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MEASUREMENTS AND MOTION

Example Solution

1. Categorize the following into fundamental and derived physical
quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed

° Watch Video Solution

2. Which system of measurement is accepted worldwide?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IX63LN1dgRaY
https://dl.doubtnut.com/l/_pBpxC5W3ZIcC

3. Write the correct representation for the below-mentioned units
according to Sl system.

(a) Density = 25kgm ~ 2 (b) Length = 100mm (c ) Mass = 2 Kg

° Watch Video Solution

4. Express 5 centimetres in metres.

° Watch Video Solution

5. Express the following quantities in terms of multiples and
submultiples.

Length = 0.000000002 m (b) Mass = 2000000 g

° Watch Video Solution



https://dl.doubtnut.com/l/_pBpxC5W3ZIcC
https://dl.doubtnut.com/l/_TGbsQmHuXfJF
https://dl.doubtnut.com/l/_oFaBuFcSeHtI
https://dl.doubtnut.com/l/_GhsJJ00UTCPF

6. What are the units of the following quantities in SI system?
(a) Force (b) Velocity

(c ) Density (d) Relative density

° Watch Video Solution

7.The unit of force in Sl system is newton (N) and in CGS system is dyne.
One newton is equal to 1kg m s 2 and 1 dyne is equal to 1g cm s~ 2. How

many dynes make one newton?

° Watch Video Solution

8. The mass of a lorry is three metric tonnes. Find its mass in terms of

quintals and kilograms.

° Watch Video Solution



https://dl.doubtnut.com/l/_ypKk8Q7Ysb8P
https://dl.doubtnut.com/l/_kMtmQt9Qt1fk
https://dl.doubtnut.com/l/_ccnGaGEw9ScA

9. Rohan's father bought an oil can. Rohan wants to find the quantity of
oil in litres. Help him find out the volume if the dimensions of the oil can

are 20 cm, 10 cm and 5 cm.

° Watch Video Solution

10. The volume of a single liquid drop can be measured using a

(a) Measuring jar (b) Measuring flask (c ) Pipette (d) Burette

° Watch Video Solution

1. If the relative density of X' and 'y is 3 and 2, respectively. Then the
density of 'x' with respect to that of 'y' is

(@)6(b)5(c)15(d)1

° Watch Video Solution



https://dl.doubtnut.com/l/_51mf9rEcQVaH
https://dl.doubtnut.com/l/_SimxHpOs0Q7q
https://dl.doubtnut.com/l/_zh8t781mrAnL

12. Compete the following table.

Arrival Time Time

Train Place (24-hour clock) (12-hour clock)
Charminar secunderabad 18:50

Express

Krishna Tirupathi 6:30

Express

° Watch Video Solution

13. Aishwarya is suffering from fever and her temperature is found to be

39°C. What is her temperature in Fahrenheit and kelvin scale of

temperature?

° Watch Video Solution

14. The cotton yielded from the crop of a farmer is given below. Find the
average mass of cotton yielded per week.

Week 1- 20 quintals


https://dl.doubtnut.com/l/_bzr7FVv2ZouC
https://dl.doubtnut.com/l/_24sw7L7b6nuj
https://dl.doubtnut.com/l/_9JDj5eG6Y8J9

Week 2 - 15 quintals

Week 3 - 12 quintals

° Watch Video Solution

15. Find the temperature equivalent to 20° C' in kelvin scale, if the relation

between kelvin and celsius scale is given by K = C + 273.

° Watch Video Solution

16. Write any five units of time.

° Watch Video Solution

17. How may seconds make one day?

° Watch Video Solution



https://dl.doubtnut.com/l/_9JDj5eG6Y8J9
https://dl.doubtnut.com/l/_kAN7NGAqOtVk
https://dl.doubtnut.com/l/_y623iRpgS4EG
https://dl.doubtnut.com/l/_epnG6DLNti0y

18. Find the time taken by the minutes hand to make a 45° angle at the

centre of the clock.

° Watch Video Solution

19. If the angle between the hours hand and minutes hand is around
180° and the hours hand is midway between 12 and 1, then what is the

time shown by the clock?

° Watch Video Solution

20. A boy travelled in a circular path and reached to the initial position

'0'. If the radius of the circle is 7 m. Find the distance covered and the


https://dl.doubtnut.com/l/_MBDwICN4U9u4
https://dl.doubtnut.com/l/_elKM3t5Fyw4m
https://dl.doubtnut.com/l/_Jws3OsM3bT3i

Final point

Initial
point

° Watch Video Solution

21. Why would you not like to use a measuring tape made of an elastic
material like rubber to measure distance? What would be some of the
problems you would meet in telling someone about a distance you

measured with such a tape?


https://dl.doubtnut.com/l/_Jws3OsM3bT3i
https://dl.doubtnut.com/l/_UyLl4DkGdTgH

° Watch Video Solution

22. A motorist started from a position of rest from Warangal and reached
Hyderabad in 3 hours. If the distance between the cities is 200 kilometres,

what is the average speed of the motorist?

° Watch Video Solution

Very Short Answer Questions

1.1n SI System mass is measured in

° Watch Video Solution

2. The physical quantity having the same unit in all the systems of unit is

° Watch Video Solution



https://dl.doubtnut.com/l/_UyLl4DkGdTgH
https://dl.doubtnut.com/l/_I1TVqdLdFR6h
https://dl.doubtnut.com/l/_BpfdrhC3d2SK
https://dl.doubtnut.com/l/_FwLUHdwJ24Nd

3.In system there are seven fundamental quantities.

° Watch Video Solution

4. Prefix used for factor 10 % is

° Watch Video Solution

5. Mega is used for a factor of

° Watch Video Solution

6. Which of the following is a fundamental quantity?

A. Length

B. Area


https://dl.doubtnut.com/l/_FwLUHdwJ24Nd
https://dl.doubtnut.com/l/_2MIELCB2rsot
https://dl.doubtnut.com/l/_dKneUjLFgDwD
https://dl.doubtnut.com/l/_YLItv5PwqhEI
https://dl.doubtnut.com/l/_Ac4cyZzOOViu

C.Volume

D. Force

Answer: A

o Watch Video Solution

7.Which of the following unit is a derived unit?

A. Cubic metre

B. Newton

C. Metre?

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ac4cyZzOOViu
https://dl.doubtnut.com/l/_EV4WPUQd0WQ2

8.The unit of electric current is denoted by

Al

B.E

C.A

Answer: C

° Watch Video Solution

9. Prefix used for 103 is

A. Milli

B. Micro

C. Mega

D. Kilo


https://dl.doubtnut.com/l/_uQ8P5hva8A34
https://dl.doubtnut.com/l/_8JKrs9uanOQV

Answer: A

° Watch Video Solution

10. Prefixes used for negative powers of 10 are called

A. Units

B. Multiples

C. Submultiples

D. Standards.

Answer: C

° Watch Video Solution

11. To measure irregular areas paper is used.

° Watch Video Solution



https://dl.doubtnut.com/l/_8JKrs9uanOQV
https://dl.doubtnut.com/l/_E87a6PfdlTAf
https://dl.doubtnut.com/l/_R54uTqtOOnTF

12. 2 decades are equal to

o Watch Video Solution

13. 5 centimetres are equal to metres.

o Watch Video Solution

14. grams make 0.2 kilograms.

o Watch Video Solution

15. 5 milliseconds is equal to

o Watch Video Solution

16. The ratio of the Sl unit of mass to its CGS unit is



https://dl.doubtnut.com/l/_6XUJD9HXftFw
https://dl.doubtnut.com/l/_y2zdvozQ5DtK
https://dl.doubtnut.com/l/_IC94b8wtR0pD
https://dl.doubtnut.com/l/_dvCHRSLlJEbp
https://dl.doubtnut.com/l/_Mzf1Aym72ar4

° Watch Video Solution

17. A thread of length 20 cm is made into square, then the length of its

° Watch Video Solution

18. Ratio of the Sl unit of volume to the Sl unit of area is

° Watch Video Solution

4
19. If the volume of a sphere is §7r'r'3 where m = I and r is radius of the

4
sphere, then the radius of the sphere of volume 7Lm?‘ is

21— ’

° Watch Video Solution

20. grams make 20 milligrams.



https://dl.doubtnut.com/l/_Mzf1Aym72ar4
https://dl.doubtnut.com/l/_VxIqHs35Gte6
https://dl.doubtnut.com/l/_maNaU3ZNTLiP
https://dl.doubtnut.com/l/_NgirjZitNwo5
https://dl.doubtnut.com/l/_kZ01xnJT9G7Z

| ° Watch Video Solution

21. What is the Sl unit of mass ?

A kg

B. gram

C.second

D.gcm_3

Answer: A

° Watch Video Solution

22. Area is measured in


https://dl.doubtnut.com/l/_kZ01xnJT9G7Z
https://dl.doubtnut.com/l/_ZnLPSVgr6DSR
https://dl.doubtnut.com/l/_jxZRWT4rSbXf

D. All of these

Answer: D

° Watch Video Solution

23. is used to measure the length of a curved line.

A. A thread

B. A graph paper

C. Water

D. None of these.

Answer: A

o Watch Video Solution

24. Relation between length (1), area (A), volume (V) is


https://dl.doubtnut.com/l/_jxZRWT4rSbXf
https://dl.doubtnut.com/l/_aPdC3o7TZQap
https://dl.doubtnut.com/l/_Tk69Gb1go3Bc

AV =Al

B.V =

~| =

C.I=VA

D.V = A2

Answer: A

° Watch Video Solution

25.If the length of a square is 2 cm, then its area in Sl system is

A4 cm2

B.4 x 10*m?

C.4 x 10 *m?

D. 40cm?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Tk69Gb1go3Bc
https://dl.doubtnut.com/l/_ULkoGvKSHfWL

26. The smallest measurement that can be measure by using a wall clock

° Watch Video Solution

27. The thermometer used to measure the minimum and maximum

temperatures of a day is called thermometer.

° Watch Video Solution

28.The short hand of a clock is at 12 and the minutes hand is 3, then the

time at that instant is

° Watch Video Solution



https://dl.doubtnut.com/l/_ULkoGvKSHfWL
https://dl.doubtnut.com/l/_WZHgakBPAKgN
https://dl.doubtnut.com/l/_DHMCWHS54bav
https://dl.doubtnut.com/l/_NapGb3eEX7U0

29. The relations between kelvin and celsius scales is K = C + 273. The
temperature of a body in kelvin scale is 19 K; if its equivalent temperature

in celsius scale is

° Watch Video Solution

30. The shape of six's maximum and minimum thermometer is in the

shape of the English alphabet

° Watch Video Solution

31. The angle between the minutes hand and hours hand in a clock, at

12:30 p.m. is

A >0°

B. > 30°

C. > 60°


https://dl.doubtnut.com/l/_NBrtsDZlflKu
https://dl.doubtnut.com/l/_cB8uMMU7nwmL
https://dl.doubtnut.com/l/_2d1BYTPEAZ3f

D. > 90°

Answer: D

° Watch Video Solution

32. Temperature is a quantity.

A. Derived

B. Fundamental

C. Physical

D. Both (b) and (c)

Answer: D

° Watch Video Solution

33.Time is a fundamental quantity


https://dl.doubtnut.com/l/_2d1BYTPEAZ3f
https://dl.doubtnut.com/l/_0r0Ey8t1XaoZ
https://dl.doubtnut.com/l/_J1FA9X4FytHE

A.Since it is independent of other quantities.

B. Since it is measured in secondary scale.

C.Since it is dependent on other quantities.

D. Since it depends on the mass of the clock.

Answer: A

o Watch Video Solution

34.The device used to measure temperature is

A. Metre scale

B. Barometer

C. Thermometer

D. Lactometer

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_J1FA9X4FytHE
https://dl.doubtnut.com/l/_W8WL0wpNExTY

35. Which of the following units of temperature is not followed by the

word 'degree'?

A. Celsius

B. Centigrade

C. Fahrenheit

D. Kelvin

Answer: D

° Watch Video Solution

36. If a body does not change its position, it must be in a state of .

° Watch Video Solution



https://dl.doubtnut.com/l/_W8WL0wpNExTY
https://dl.doubtnut.com/l/_qorQ3CVpUdqt
https://dl.doubtnut.com/l/_0F2rnYV5Pa2g

37.The CGS unit of distance covered is

o Watch Video Solution

38. Acceleration is measured in in Sl system.

o Watch Video Solution

39. A passenger in a moving bus appears to be in a state of rest with

respect to

o Watch Video Solution

40. A body is said to be in a state of motion if it changes its

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxvIRrvsckQo
https://dl.doubtnut.com/l/_ZmOQPpIedfM4
https://dl.doubtnut.com/l/_MyklfvBdMX5t
https://dl.doubtnut.com/l/_U3z0xCNGFs1n

41.The CGS unit of velocity is

Answer: A

° Watch Video Solution

42. Which of the following is different from the others?

A. Distance covered

B. Displacement

C. Velocity

D. Acceleration


https://dl.doubtnut.com/l/_PZRWmnmKJpXa
https://dl.doubtnut.com/l/_CZLh5wOKoqyT

Answer: A

° Watch Video Solution

43. Centimetre per second is the unit of

A. Distance covered

B. Displacement

C. Velocity

D. Acceleration

Answer: C

° Watch Video Solution

44. If the velocity of a body decreases gradually with time, then it is said

to bein



https://dl.doubtnut.com/l/_CZLh5wOKoqyT
https://dl.doubtnut.com/l/_8jkUN4zs7JJK
https://dl.doubtnut.com/l/_K7nHTVO2a4Er

A. Acceleration

B. Deceleration

C. Retardation

D. Both (b) and (c)

Answer: D

o Watch Video Solution

45. A bus is moving with uniform velocity,

A. Then its acceleration is non-zero.

B. Then its acceleration is negative.

C.Then its acceleration is zero.

D. Then its acceleration is positive.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_K7nHTVO2a4Er
https://dl.doubtnut.com/l/_EEkTvJXN0mYS

Short Answer Type Questions

1. Define physical quantity and give any two examples.

° Watch Video Solution

2. Define derived physical quantity and give any two examples.

° Watch Video Solution

3. Define multiple units.

° Watch Video Solution

4. Define unit and write any three examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_EEkTvJXN0mYS
https://dl.doubtnut.com/l/_Zw8C3vndJH5g
https://dl.doubtnut.com/l/_XZMlTcoSlcZ3
https://dl.doubtnut.com/l/_xcD8joJ6t0rn
https://dl.doubtnut.com/l/_mutV9NuBOdwJ

5. What are fundamental and derived units? Give some examples.

° Watch Video Solution

6. What is the Sl unit of the ratio of mass to area?

° Watch Video Solution

7. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

° Watch Video Solution



https://dl.doubtnut.com/l/_mutV9NuBOdwJ
https://dl.doubtnut.com/l/_t1K20t75jZjc
https://dl.doubtnut.com/l/_H2WpCkYJbvLD
https://dl.doubtnut.com/l/_VADTA1hPIewd
https://dl.doubtnut.com/l/_cLYGARkugA0k

8. Match the entries in Column A with entries in Column B

Column A Column B

(A) ST unit of electric current (a) Candela
(B) CGS units of time (b) Ampere
(C) SIunit of luminous intensity (¢) Metre
(D) SIunit of distance (d) second

° Watch Video Solution

9. Assertion A: 1 metre can be written as 1 m and not as 1 M.

Reason R: If the unit of physical quantity is not named after a scientist,

symbol of the unit should not be denoted with a capital letter.

A. A and Ris correct and R is the correct explanation of A.

B.Aand Ris incorrect and R is the correct explanation of A.

C.Both Aand R is true but 'R' is not the correct explanation of A.

D.Ais true,R is not true and R is not the correct explanation of A.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cLYGARkugA0k
https://dl.doubtnut.com/l/_H5Zd3Q2NrJRQ

10. Write the following steps in sequential order to convert centimetres

into millimetres.

A. Convert centimetres into metres by dividing the given value with

100.

B. Write the given value.

C. Multiply the result with 1000.

D. The result of the length given above is in millimetres.

Answer: b,a,cd

° Watch Video Solution

1. If the product of milli and micro is nano and the values of milli and

nano are 102 and 10_9, find the value of micro.

° Watch Video Solution



https://dl.doubtnut.com/l/_H5Zd3Q2NrJRQ
https://dl.doubtnut.com/l/_YHE6R05qtItb
https://dl.doubtnut.com/l/_n6UrTQjfh6nV

12. If A, B and C are the units of time, length and speed, then find the

relationship between them.

° Watch Video Solution

density electric currect
and

13. Find the units of density, -
mass time

° Watch Video Solution

14. Write the unit of the physical quantity which is the ratio of density to

area.

° Watch Video Solution

15. Find the unit of work if the work is the product of force and

length
2

displacement, force = mass X acceleration, where acceleration =
time

° Watch Video Solution



https://dl.doubtnut.com/l/_BOs8NSHzmeZS
https://dl.doubtnut.com/l/_MMxgwS47NmzA
https://dl.doubtnut.com/l/_rQaxYU8b4nxz
https://dl.doubtnut.com/l/_cZ2gqCwa5dLI

16. Define length.

o Watch Video Solution

17. Define mass, weight and centre of gravity.

o Watch Video Solution

18. Define volume.

o Watch Video Solution

19. Define area.

o Watch Video Solution



https://dl.doubtnut.com/l/_cZ2gqCwa5dLI
https://dl.doubtnut.com/l/_ptRQfJ2ppaBY
https://dl.doubtnut.com/l/_CpHGGjU8RtIW
https://dl.doubtnut.com/l/_MWMaPgDU8yzU
https://dl.doubtnut.com/l/_P7520M4G4xYE

20. Define measurement.

o Watch Video Solution

21. Find the unit of ratio of mass to area.

o Watch Video Solution

22. What is the physical quantity measured in cm??

o Watch Video Solution

23. find the volume of solid sphere having radius 2m?

o Watch Video Solution



https://dl.doubtnut.com/l/_5xhT3ZiCDtiZ
https://dl.doubtnut.com/l/_IgsQGCxWrIHR
https://dl.doubtnut.com/l/_LNcadWSh3XuV
https://dl.doubtnut.com/l/_DxQtrxun7nVS

24. Match the following.

Column A Column B
Area/length () (a) metre !
Mass/volume ( ) (b) No unit
Length/area () (c¢) metre
Length®/area () (d) kgm °

=

Q

~ A~ ~~
—_ ~— ~—

o Watch Video Solution

25. Assertion (A): m? is a derived unit.

Reason (R ): Area is a derived quantity.
A.Aand Ris correct and R is the correct explanation of A.
B.Aand Ris incorrect and R is the correct explanation of A.
C.Aand R is true but 'R" is not the correct explanation A.

D.Ais true,R is not true and R is not the correct explanation of A.

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_6fmFEjUjeYzO
https://dl.doubtnut.com/l/_x1wEzfpVShTO

26. Pavan is measuring the area of a leaf by using a graph paper and he
measured the sum of the areas of full boxes and more than half boxes
inside the outline of the leaf which is 25 ¢m?. Find the length of the

square whose area is equal to the area of the leaf.

° Watch Video Solution

27. Ram measured the length of a curved line using a thread. He made a
right angled triangle, of base 10 cm and height 20 cm, with the same

thread. Find the length of the curved line measured by him.

° Watch Video Solution

. . mass X area
28. Convert the unit of ratio from SI system to CGS
volume

system.

° Watch Video Solution



https://dl.doubtnut.com/l/_gH88gzxFM5ka
https://dl.doubtnut.com/l/_SRa0YHw0ssIv
https://dl.doubtnut.com/l/_spoj8p3oHOcg
https://dl.doubtnut.com/l/_XB8WzEshqqV5

29. Abhi who is interested in physics measured the volume of an irregular
shaped body with concepts given by his physics teacher. When he
immersed the given body in water contained in a measuring jar, the level
of water is increased from 500 ml to 1500 ml. Find the volume of the body
and also find the length of the edge of the cube whose volume is equal to

the volume of the given irregular shaped body.

° Watch Video Solution

30. Find the area of a coloured paper used to stick to a sphere of radius 7

cam.

° Watch Video Solution

31. Define time.

° Watch Video Solution



https://dl.doubtnut.com/l/_XB8WzEshqqV5
https://dl.doubtnut.com/l/_3jgAAbKjpgRY
https://dl.doubtnut.com/l/_CFhlXXzmy8LQ

32. Define temperature.

o Watch Video Solution

33. Match the following.

Column A Column B
(A) Kelvin () (a) Hotness
(B) Time () (b) Temperature
(C) Temperature ( ) (c¢) second

o Watch Video Solution

34. Assertion (A): Temperature is a fundamental quantity in Sl system.
Reason (R ): In other systems of measurement only mass, length and time
are fundamental quantities.

A.Aand R is correct and R is the correct explanation of A.

B.Both A and R is incorrect.

C.Ais true,R is true and 'R' is not the correct explanation of A.


https://dl.doubtnut.com/l/_GGfBjaDkHla5
https://dl.doubtnut.com/l/_nowD5bfq7tyJ
https://dl.doubtnut.com/l/_ZlTw9pqUr08f

D. Ais true, R is not true.

Answer: ¢

o Watch Video Solution

35. Write the following steps in a sequential order to find the time at a
given instant by using a clock.

(a) Observe the position of the hour hand.

(b) Observe the position of the minute hand.

(c) Multiply 1 hour with the number at which the hour hand is located.
(d) Note the number of minutes, considering the gap between two
numbers of clocks as 5 minutes.

(e) Find the time.

o Watch Video Solution

36. Raju started a piece of work when the hours hand and minutes hand

in a wall clock are at 9 and 12, respectively. He completed his work when


https://dl.doubtnut.com/l/_ZlTw9pqUr08f
https://dl.doubtnut.com/l/_SDHPmVUHSpkH
https://dl.doubtnut.com/l/_W2xDYd4mQkDh

the hours hand is at a midway between 11 and 12, while the position of

the minutes hand is at 6. Find the time taken by him to do the work.

o Watch Video Solution

37. Keshav observed that the increase in the temperature of a body is
given by Ty = 2t* for the first 5 minutes and T, = 3t for the next 5
minutes, where T, T and 't' are temperatures in Fahrenheit, Celsius
scales and time in minutes, respectively. If the initial temperature of the
body is 20° F' and the relation between the Celsius and Fahrenheit scale

is, then find the temperature of the body after 8 minutes in Celsius scale.

o Watch Video Solution

38. Define rest.

o Watch Video Solution



https://dl.doubtnut.com/l/_W2xDYd4mQkDh
https://dl.doubtnut.com/l/_NfDYGnJum1kE
https://dl.doubtnut.com/l/_ZffM602CzQ1r

39. Define motion, What do you understand by the terms 'uniform motion'

and 'non-uniform motion' ? Explain with examples.

o Watch Video Solution

40. Define displacement.

o Watch Video Solution

41. Define velocty.

o Watch Video Solution

42, Define acceleration.

o Watch Video Solution



https://dl.doubtnut.com/l/_bdCUaYLrQuBa
https://dl.doubtnut.com/l/_Ws0pfeveRtLo
https://dl.doubtnut.com/l/_lMeFYgwGtsGJ
https://dl.doubtnut.com/l/_8wfJGTkXNXfh

43. How can you differentiate between distance and displacement?

° Watch Video Solution

44.If the distance covered by a body moving in a circular path of radius (r

) is equal to 277, find its displacement.

° Watch Video Solution

45. How can you say that speed and velocity are different even through

their units are the same?

° Watch Video Solution

46.How can you say that the tree on the earth is in a state of rest and in

a state of motion at the same time?

° Watch Video Solution



https://dl.doubtnut.com/l/_caxQ7bgxTjid
https://dl.doubtnut.com/l/_78IExoJ5ETvb
https://dl.doubtnut.com/l/_UMvZaCunjt8a
https://dl.doubtnut.com/l/_61HMguDUTVoL

47. Give any one example in which a body travels with retardation and

give a reason for the same.

° Watch Video Solution

48. A particle is movingin circular path of radius 7 cm. Find the ratio of its

displacement to the distance covered after the completion of a half

° Watch Video Solution

49. Find the minimum speed required by a person standing 5 m behind a

bus, to catch the bus in one minute which is moving at a speed of 600 m

Tl
min .

° Watch Video Solution



https://dl.doubtnut.com/l/_61HMguDUTVoL
https://dl.doubtnut.com/l/_lRiMOYVlflhP
https://dl.doubtnut.com/l/_rmNXPJi5LTlQ
https://dl.doubtnut.com/l/_jdgvopVp1onE

50. If a bus moves from A to B and comes back to A, find the displacement

and velocity of the body.

° Watch Video Solution

51. What is the speed of a body if it covers a distance of 20 m in 4

seconds?

° Watch Video Solution

52. Find the acceleration of the car, if it changes its velocity from 20ms ~*

to 30ms ! in 5 seconds.

° Watch Video Solution



https://dl.doubtnut.com/l/_8NC3puHCWjpK
https://dl.doubtnut.com/l/_YQwhLuKJQeRB
https://dl.doubtnut.com/l/_LcFvL3Y2zeXy

1. find the surface area of a cube ,if side of cube is 1.5m?

° Watch Video Solution

2. Find out the physical quantity in CGS unit that results on simplifying
2b263

———, where a - acceleration, b - displacement, c -

the expression 1000 7

time, d - velocity.

A. 10000 cm?®

B. 1000 cm?®

C.1000 |

D.1000 g

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HI63D2qGqO4l
https://dl.doubtnut.com/l/_njoyBLe2J3XU

3. Jyoti created a temperature scale, in which the reading at room
temperature divides the total length of the temperature scale in 2 : 3
ratio from LFP. Then find its value on Jyothi's scale, which is the same as
Kelvin scale.

A. 40K

B.313 K

C.200 K

D.73K

Answer: B

o Watch Video Solution

4. Dev is a 12-year-old, studying in 6th class, and has a younger brother
Surya whose age is 7-years. Surya is playing by dipping balls in water tub.
Dev observed that the level of the water increases when Surya starts

dipping the balls one after the other in the water. Then Dev remembered


https://dl.doubtnut.com/l/_UnRkKrW1sAqI
https://dl.doubtnut.com/l/_fnPm9c5fFniQ

his 6" class topic measurement of volume. He poured water up to the
brim of the tub and set up another bigger tub at the bottom of the first
tub. He then asked his brother Surya to dip ten identical balls in it so that
the overflowed water is collected in the tub at the bottom. Dev calculated
volume of overflowed water and found that it was 2 litres. Dev calculated
volume of each ball. Which of the following options matches with Dev's

calculations?

A. 2000 |
B.200 |
c.201

D.0.2 |

Answer: D

o Watch Video Solution

5. Abhi, Vasu, Maahi and Lucky are good friends. During summer vacation

they met at Vasu's home to play. Vasu's father is good at mathematics


https://dl.doubtnut.com/l/_fnPm9c5fFniQ
https://dl.doubtnut.com/l/_h6sCfWLSZds1

and physics, so he used to play with Vasu and his friends by asking
subject-related questions in the middle of their play. He asked a question,
"how will you write the weight of you 1 litre water bottle in physics?"
Select the correct form of writing the weight from the answer given by
the four.

A. Abhi wrote 10 n

B. Vasu wrote 10 newtons

C. Maahi wrote 10 N

D. Lucky wrote 10, N.

Answer: b

o Watch Video Solution

1. Derive the units of area and volume.

e l


https://dl.doubtnut.com/l/_h6sCfWLSZds1
https://dl.doubtnut.com/l/_4TXm30S68ZXs
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2.If speed is the ratio of distance to time, then write its CGS unit.

° Watch Video Solution

3. Find the unit of ratio of area to length.

° Watch Video Solution

4. What is the relation between CGS and Sl unit of volume?

° Watch Video Solution

5. The mass of mercury is 13.6 grams. Find its value in microgram.

° Watch Video Solution



https://dl.doubtnut.com/l/_4TXm30S68ZXs
https://dl.doubtnut.com/l/_3jATA8gTB4d4
https://dl.doubtnut.com/l/_LZUV9PQ46l3C
https://dl.doubtnut.com/l/_JYvQg9Lv9uXf
https://dl.doubtnut.com/l/_l3XvTfY1iW56
https://dl.doubtnut.com/l/_SB5RIAYMSOSO

6. Find the ratio of the smallest measurements possible on a screw gauge

to verneir calipers.

o Watch Video Solution

7. An object X' of volume 200 ¢m® and another object Y of volume 250

em? are taken. If their area is the same, then determine the ratio of their

heights.

o Watch Video Solution

8. Four spheres made of different materials but having the same mass,
have a radii of 100 mm, 2 X 1O*2m, 30 cm and 10 °km then arrange

them in ascending order of their volumes.

o Watch Video Solution

9.1km= millimetre



https://dl.doubtnut.com/l/_SB5RIAYMSOSO
https://dl.doubtnut.com/l/_PUP54SLVmJ5c
https://dl.doubtnut.com/l/_Bh46ZMDmCySY
https://dl.doubtnut.com/l/_Op8476p77JTW

I o Watch Video Solution

10. Given the volume of air is 1.29m 3. Then express it in c.c.

o Watch Video Solution

11. Given that the time taken by an oil dropper to drop 100 oil drops is

800 min, find the time taken to drop 10 oil drops in hours.

o Watch Video Solution

12. On dropping 3 identical bullets into a measuring jar containing a
liquid, the level of the liquid increased from 280cm?® to 316¢m?>. Then the

volume of each bullet is m°.

o Watch Video Solution



https://dl.doubtnut.com/l/_Op8476p77JTW
https://dl.doubtnut.com/l/_LBqSj0w8i6od
https://dl.doubtnut.com/l/_kJDQvj84M534
https://dl.doubtnut.com/l/_xZugBjVS2T7t

13. Express 50° C'in kelvin and Fahrenheit scale temperature.

o Watch Video Solution

1. What is the relation between CGS and Sl unit of distance?

° Watch Video Solution

2. What are the different branches of mechanic?

° Watch Video Solution

3. How, do you represent a vector geometrically?

° Watch Video Solution



https://dl.doubtnut.com/l/_bNqERHdtrQmn
https://dl.doubtnut.com/l/_bno4zs3NsMXy
https://dl.doubtnut.com/l/_OoiAxQcu5miH
https://dl.doubtnut.com/l/_GrtVPAhHgMOx
https://dl.doubtnut.com/l/_VuVqLCwYUj89

4. When can we say that a particle in motion is moving with uniform

speed?

° Watch Video Solution

5. What are fundamental and derived units? Give some examples.

° Watch Video Solution

6. Define distance, displacement and sped.

° Watch Video Solution

7. What is kinematics?

° Watch Video Solution



https://dl.doubtnut.com/l/_VuVqLCwYUj89
https://dl.doubtnut.com/l/_3Ve78aPOhrh3
https://dl.doubtnut.com/l/_MueBLHHZb7p7
https://dl.doubtnut.com/l/_HmS7Pl7p2m5I

8. What will be the displacement of a body when it travels along the
following paths?
(a) Half circle

(b) Full circular path?

° Watch Video Solution

1

9. What are the physical quantities that can be measured in m s, km

and km h~2?

° Watch Video Solution

Crossword


https://dl.doubtnut.com/l/_6Rcnw2yJYuuY
https://dl.doubtnut.com/l/_FdCmVY9cgt5R

1.

Across

1. Prefix used instead of a 10 power positive number.
6. A body does not change its position.

8. The quantity that depends on other quantities.

9. Unit of electric current

10. Paper used to measure the area of irregular lamina.

Down

2. Only these qua
3. Standard refere
4. Kelvin is the un
5. Prefix used tor

7. Distance covere

° Watch Video Solution



https://dl.doubtnut.com/l/_KDhgrNvDvTil

2. CROSSWORD

10

=

L
[
-
-

Across

. Prefix wsed instead of a 10 power positive number

A body does not change 1ts position
The quanniry that depends on other quantities.
Umt of electric current

. Paper used 1o measure the area of irregular lanuna

3

7.

Down

Only these quantities can be measured

. Standard reference of 2 physical quantity
. Kelvin is the umt of

. Pretix used 1o represent 1074

Distance covered by the body n unit nme

o View Text Solution

1. Categorize the following into fundamental and derived physical

quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed



https://dl.doubtnut.com/l/_UNj7TqzbMcB8
https://dl.doubtnut.com/l/_rbl6DkNfDLf1

I ° Watch Video Solution \

2. Categorize the following into fundamental and derived physical
quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed

° Watch Video Solution

3. Categorize the following into fundamental and derived physical
quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed

° Watch Video Solution

4. Categorize the following into fundamental and derived physical
quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed



https://dl.doubtnut.com/l/_rbl6DkNfDLf1
https://dl.doubtnut.com/l/_1IqlfsAnBzi6
https://dl.doubtnut.com/l/_Amh3eqxUvXvQ
https://dl.doubtnut.com/l/_mPayWe7ynOVY
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5. Categorize the following into fundamental and derived physical
quantities.

(a) Weight (b) Mass (c ) Density (d) Volume (e) Speed

o Watch Video Solution

6. Which system of measurement is accepted worldwide?

o Watch Video Solution

7. Write the correct representation for the below-mentioned units
according to Sl system.

(a) Density = 25ktgm_3 (b) Length = 100mm (c ) Mass =2 Kg

o Watch Video Solution



https://dl.doubtnut.com/l/_mPayWe7ynOVY
https://dl.doubtnut.com/l/_VZiOezwjiwUR
https://dl.doubtnut.com/l/_KZ9DRfIj7OY0
https://dl.doubtnut.com/l/_CtiQ5FDID6yH

8. Write the correct representation for the below-mentioned units
according to Sl system.

(a) Density = 25kgm_3 (b) Length =100mm (c ) Mass =2 Kg

° Watch Video Solution

9. Write the correct representation for the below-mentioned units
according to Sl system.

(a) Density = 25kgm_3 (b) Length =100mm (c ) Mass =2 Kg

° Watch Video Solution

10. Express 5 centimetres in metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_zvrelvlrWo4e
https://dl.doubtnut.com/l/_jb1EXVAXXQa1
https://dl.doubtnut.com/l/_OUPouzfKYJYB

1. Express the following quantities in terms of multiples and
submultiples.

Length = 0.000000002 m (b) Mass = 2000000 g

° Watch Video Solution

12. Express the following quantities in terms of multiples and
submultiples.

Length = 0.000000002 m (b) Mass = 2000000 g

° Watch Video Solution

13. What are the units of the following quantities in Sl system?
(a) Force (b) Velocity

(c ) Density (d) Relative density

° Watch Video Solution



https://dl.doubtnut.com/l/_HYVCxehEE7PE
https://dl.doubtnut.com/l/_CIshyp0iT5XD
https://dl.doubtnut.com/l/_eehWwgLuAa6h
https://dl.doubtnut.com/l/_rsxXdJR6XfB7

14. What are the units of the following quantities in SI system?
(a) Force (b) Velocity

(c ) Density (d) Relative density

° Watch Video Solution

15. What are the units of the following quantities in Sl system?
(a) Force (b) Velocity

(c ) Density (d) Relative density

° Watch Video Solution

16. What are the units of the following quantities in Sl system?
(a) Force (b) Velocity

(c ) Density (d) Relative density

° Watch Video Solution



https://dl.doubtnut.com/l/_rsxXdJR6XfB7
https://dl.doubtnut.com/l/_VMS1jzB5gIJs
https://dl.doubtnut.com/l/_cKBKDu0IOGwu

17. The unit of force in SI system is newton (N) and in CGS system is dyne.
One newton is equal to 1kg m s 2 and 1 dyne is equal to 1g cm s~ 2. How

many dynes make one newton?

° Watch Video Solution

18. The mass of a lorry is three metric tonnes. Find its mass in terms of

quintals and kilograms.

° Watch Video Solution

19. Rohan's father bought an oil can. Rohan wants to find the quantity of
oil in litres. Help him find out the volume if the dimensions of the oil can

are 20 cm, 10 cm and 5 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_1ooLwDkmGDDV
https://dl.doubtnut.com/l/_y4IHDVBPrbVu
https://dl.doubtnut.com/l/_lJFIpH8LzVZ9

20. The volume of a single liquid drop can be measured using a

(@) Measuring jar (b) Measuring flask (c ) Pipette (d) Burette

A. Measuring jar

B. Measuring flask

C. Pipette

D. Burette

Answer:

o Watch Video Solution

21. If the relative density of 'x' and 'y' is 3 and 2, respectively. Then the

density of 'x' with respect to that of 'y' is

(@)6(b)5(c)15(d)1

A.6

B.5


https://dl.doubtnut.com/l/_HFfi8nwDCkXn
https://dl.doubtnut.com/l/_SLvHjjbLLEzb

C.15

D.1

Answer:

° Watch Video Solution

22. Complete the following table.

Arrival Time Time
(24-hour clock) (12-hour clock)
Charnunar Secunderabad 18:50
Express
Express

o Watch Video Solution

23. Aishwarya is suffering from fever and her temperature is found to be
39°C. What is her temperature in Fahrenheit and kelvin scale of

temperature?

o Watch Video Solution



https://dl.doubtnut.com/l/_SLvHjjbLLEzb
https://dl.doubtnut.com/l/_vedUogMDHkcK
https://dl.doubtnut.com/l/_FayfHGk5vQNU

24.The cotton yielded from the crop of a farmer is given below. Find the
average mass of cotton yielded per week.

Week 1-20 quintals

Week 2 - 15 quintals

Week 3 - 12 quintals

o Watch Video Solution

25. Find the temperature equivalent to 20°C in kelvin scale, if the

relation between kelvin and celsius scale is given by K= C + 273.

o Watch Video Solution

26. Write any five units of time.

o Watch Video Solution



https://dl.doubtnut.com/l/_FayfHGk5vQNU
https://dl.doubtnut.com/l/_tFvtj7SqkESV
https://dl.doubtnut.com/l/_02geQYxpa2Z5
https://dl.doubtnut.com/l/_rYnMm2f71PLs
https://dl.doubtnut.com/l/_WGuqZ4TBtQyH

27. How many seconds make one day?

° Watch Video Solution

28. Find the time taken by the minutes hand to make a 45° angle at the

centre of the clock.

o Watch Video Solution

29. If the angle between the hours hand and minutes hand is around
180° and the hours hand is midway between 12 and 1, then what is the

time shown by the clock?

o Watch Video Solution

30. A boy travelled in a circular path and reached to the initial position

'0'. If the radius of the circle is 7 m. Find the distance covered and the


https://dl.doubtnut.com/l/_WGuqZ4TBtQyH
https://dl.doubtnut.com/l/_LMcOfA1PvSpw
https://dl.doubtnut.com/l/_W4fIuUJNpQ2Q
https://dl.doubtnut.com/l/_UX5Pcy2lXKie

Final point

° Watch Video Solution



https://dl.doubtnut.com/l/_UX5Pcy2lXKie

31. Find the speed and velocities for the case given below.

A
Em/.

.

14 m

o View Text Solution



https://dl.doubtnut.com/l/_WJwarlrmsa4b

32. A motorist started from a position of rest from Warangal and reached
Hyderabad in 3 hours. If the distance between the cities is 200 kilometres,

what is the average speed of the motorist?

o Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

1. In SI System mass is measured in

° Watch Video Solution

2. Unit of is the same in all the systems of measurements.

° Watch Video Solution

3.In system there are seven fundamental quantities.



https://dl.doubtnut.com/l/_RIupGBqlfIsC
https://dl.doubtnut.com/l/_uItsebodpANC
https://dl.doubtnut.com/l/_yUBvINMEoxYa
https://dl.doubtnut.com/l/_qenz0LxPIWhu

| ° Watch Video Solution

4. Prefix used for factor 10 % is

° Watch Video Solution

5. Mega is used for a factor of

° Watch Video Solution

6. Which of the following is a fundamental quantity?

A. Length

B. Area

C. Volume

D. Force

Answer: A


https://dl.doubtnut.com/l/_qenz0LxPIWhu
https://dl.doubtnut.com/l/_UXW1X5sftJGh
https://dl.doubtnut.com/l/_YTNsVY7CCHLq
https://dl.doubtnut.com/l/_eva8M1fNstBa

° Watch Video Solution

7. Which of the following unit is a derived unit?

A. Cubic metre

B. Newton

C. Metre?

D. All of these

Answer: D

° Watch Video Solution

8.The unit of electric current is denoted by

Al

B.E

C.A


https://dl.doubtnut.com/l/_eva8M1fNstBa
https://dl.doubtnut.com/l/_0Y6XiwRI4MUe
https://dl.doubtnut.com/l/_6qfZSxHHREnv

Answer: C

° Watch Video Solution

9. Prefix used for 103 is

A. Milli

B. Micro

C. Mega

D. Kilo

Answer: A

° Watch Video Solution

10. Prefixes used for negative powers of 10 are called


https://dl.doubtnut.com/l/_6qfZSxHHREnv
https://dl.doubtnut.com/l/_WlwheywSY1hc
https://dl.doubtnut.com/l/_xydFb2m6fiyi

A. Units

B. Multiples

C. Submultiples

D. Standards

Answer: C

o Watch Video Solution

11. To measure irregular areas paper is used.

o Watch Video Solution

12. 2 decades are equal to

° Watch Video Solution



https://dl.doubtnut.com/l/_xydFb2m6fiyi
https://dl.doubtnut.com/l/_RRPq5zePTWDP
https://dl.doubtnut.com/l/_Bu7PwQuWdk0I

13. 5 centimetres are equal to metres.

o Watch Video Solution

14. grams make 0.2 kilograms.

o Watch Video Solution

15. 5 milliseconds is equal to

o Watch Video Solution

16. The ratio of the Sl unit of mass to its CGS unit is

o Watch Video Solution



https://dl.doubtnut.com/l/_Ih3Bc4UqfyQs
https://dl.doubtnut.com/l/_AbidZR66L4L6
https://dl.doubtnut.com/l/_qt70gLXmXnFG
https://dl.doubtnut.com/l/_dEu8hDHSh5aD

17. A thread of length 20 cm is made into square, then the length of its

side is

o Watch Video Solution

18. Ratio of the Sl unit of volume to the Sl unit of area is

o Watch Video Solution

4
19. If the volume of a sphere is gﬂ'r?’ where m = I and r is radius of the

3is

4
sphere, then the radius of the sphere of volume 72L1m

o Watch Video Solution

20. grams make 20 milligrams.

o Watch Video Solution



https://dl.doubtnut.com/l/_qBMR2JeB9Nri
https://dl.doubtnut.com/l/_fkbXqouoAKXZ
https://dl.doubtnut.com/l/_iSAF87XX7B9J
https://dl.doubtnut.com/l/_Mt4QMSWhz6C8
https://dl.doubtnut.com/l/_48EalQDHXiRn

21. What is the Sl unit of mass ?

A kg

B.gram

C.second

D.gem

Answer: A

° Watch Video Solution

22. Area is measured in

D. All of these


https://dl.doubtnut.com/l/_48EalQDHXiRn
https://dl.doubtnut.com/l/_qmzVMV2W3V69

Answer: D

° Watch Video Solution

23. is used to measure the length of a curved line.

A. A thread

B. A graph paper

C. Water

D. None of these

Answer: A

° Watch Video Solution

24, Relation between length (1), area (A), volume (V) is

AV = Al


https://dl.doubtnut.com/l/_qmzVMV2W3V69
https://dl.doubtnut.com/l/_SMhAhKbCodnz
https://dl.doubtnut.com/l/_GfTdqoHkldN3

s

BV =—
l
Cl=VA
D.V = Al?
Answer: A

° Watch Video Solution

25.If the length of a square is 2 cm, then its area in Sl system is

A. dem?

B.4 x 10*m?

C.4 x 10 *m?

D. 40cm?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GfTdqoHkldN3
https://dl.doubtnut.com/l/_G3I5nSUsFCwK
https://dl.doubtnut.com/l/_V510lpcmHdOp

26. The least measurement of time in a wall clock is

° Watch Video Solution

27. The thermometer used to measure the minimum and maximum

temperatures of a day is called thermometer.

° Watch Video Solution

28.The short hand of a clock is at 12 and the minutes hand is 3, then the

time at that instant is

° Watch Video Solution

29. The relations between kelvin and celsius scales is K = C + 273. The
temperature of a body in kelvin scale is 19 K, if its equivalent temperature

in celsius scale is

(e |


https://dl.doubtnut.com/l/_V510lpcmHdOp
https://dl.doubtnut.com/l/_fXIXqObMNNfr
https://dl.doubtnut.com/l/_vHym7gmSIIGW
https://dl.doubtnut.com/l/_3IT3Po57eGJm

| @ Vvatch Video Solution ]

30. The shape of six's maximum and minimum thermometer is in the

shape of the English alphabet

° Watch Video Solution

31. The angle between the minutes hand and hours hand in a clock, at

12:30 p.m. is

A >0°

B. > 30°

C. > 60°

D. > 90°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3IT3Po57eGJm
https://dl.doubtnut.com/l/_bkmdERinceig
https://dl.doubtnut.com/l/_RNoAOqdTQynV
https://dl.doubtnut.com/l/_UycEkV6QWsmT

32. Temperature is a quantity.

A. Derived

B. Fundamental

C. Physical

D. Both (b) and (c)

Answer: D

o Watch Video Solution

33.Time is a fundamental quantity

A.Since it is independent of other quantities.

B. Since it is measured in secondary scale.

C.Since it is dependent on other quantities.

D. Since it depends on the mass of the clock.


https://dl.doubtnut.com/l/_UycEkV6QWsmT
https://dl.doubtnut.com/l/_0KZ230wL3d0p

Answer: A

° Watch Video Solution

34.The device used to measure temperature is

A. Metre scale

B. Barometer

C. Thermometer

D. Lactometer

Answer: C

° Watch Video Solution

35. Which of the following units of temperature is not followed by the

word 'degree'?


https://dl.doubtnut.com/l/_0KZ230wL3d0p
https://dl.doubtnut.com/l/_cyyz4a5kj7wH
https://dl.doubtnut.com/l/_vY0nqBjXY0s7

A. Celsius

B. Centigrade

C. Fahrenheit

D. Kelvin

Answer: D

o Watch Video Solution

36. If a body does not change its position, it must be in a state of .

o Watch Video Solution

37.The CGS unit of distance covered is

° Watch Video Solution



https://dl.doubtnut.com/l/_vY0nqBjXY0s7
https://dl.doubtnut.com/l/_gFYOfu67aPHY
https://dl.doubtnut.com/l/_SMQlArFwGQdH

38. Acceleration is measured in in Sl system.

o Watch Video Solution

39. A passenger in a moving bus appears to be in a state of rest with

respect to

o Watch Video Solution

40. A body is said to be in a state of motion if it changes its

o Watch Video Solution

41. S| unit of velocity is
(i) m/s

(iiym /s


https://dl.doubtnut.com/l/_dIJlCYIT580N
https://dl.doubtnut.com/l/_qmGsNaDdctEn
https://dl.doubtnut.com/l/_L7FnZ8P8rd2y
https://dl.doubtnut.com/l/_sre6VkWlh1Xx

(iii) m

(iv) s

A.cms °s
B.mms ™~ 1
C.ms !
D. kmh !
Answer: C

° Watch Video Solution

42. Which of the following is different from the others?

A. Distance covered

B. Displacement

C. Velocity

D. Acceleration


https://dl.doubtnut.com/l/_sre6VkWlh1Xx
https://dl.doubtnut.com/l/_50hVRPNFhFMO

Answer: A

° Watch Video Solution

43. Centimetre per second is the unit of

A. Distance covered

B. Displacement

C. Velocity

D. Acceleration

Answer: C

° Watch Video Solution

44. If the velocity of a body decreases gradually with time, then it is said

to bein



https://dl.doubtnut.com/l/_50hVRPNFhFMO
https://dl.doubtnut.com/l/_SynLD9COdeGl
https://dl.doubtnut.com/l/_f3B6NjPYh380

A. Acceleration

B. Deceleration

C. Retardation

D. Both (b) and (c)

Answer: D

o Watch Video Solution

45. A bus is moving with uniform velocity,

A. Then its acceleration is non-zero.

B. Then its acceleration is negative.

C.Then its acceleration is zero.

D. Then its acceleration is positive.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_f3B6NjPYh380
https://dl.doubtnut.com/l/_8WdqTNln6qWu

Test Your Concepts Short Answer Type Questions

1. Define physical quantity and give any two examples.

° Watch Video Solution

2. Define derived physical quantity and give any two examples.

° Watch Video Solution

3. Define multiple units.

° Watch Video Solution

4. Define unit and write any three examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_8WdqTNln6qWu
https://dl.doubtnut.com/l/_SdVZWSAHT30Z
https://dl.doubtnut.com/l/_e2XwwkrDedn1
https://dl.doubtnut.com/l/_LYAaChhvxZDw
https://dl.doubtnut.com/l/_sQk7MexTOpbk

5. Define fundamental unit and write any two examples.

° Watch Video Solution

6. What is the Sl unit of the ratio of mass to area?

° Watch Video Solution

7. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

° Watch Video Solution



https://dl.doubtnut.com/l/_sQk7MexTOpbk
https://dl.doubtnut.com/l/_BToqpdkOBi9Y
https://dl.doubtnut.com/l/_rsWdiZsqQ1Lw
https://dl.doubtnut.com/l/_Ji8ahjcZ4jaj
https://dl.doubtnut.com/l/_N8duf7HW4Xh4

8. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

o Watch Video Solution

9. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

o Watch Video Solution



https://dl.doubtnut.com/l/_N8duf7HW4Xh4
https://dl.doubtnut.com/l/_mcNH3V4MlBOI

10. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

° Watch Video Solution

11. Write the correct notation for the following.
(a) 2 Kg

(b) 4 Newtons

(c) 6 metres

(d) 35 Gram

(e)7S

° Watch Video Solution



https://dl.doubtnut.com/l/_ygxTfMExgNvX
https://dl.doubtnut.com/l/_2YCnrHBYyq3k

12. Match the entries in Column A with entries in Column B.

Column A Column B

(A) Sl umit of electric (a)  Candela
LCUrrent

(B) CGSunitoftime  (b) Ampere

(C)  S1 umit of lumanous (cy  Metre
|||t1..'|3|"'||t'!f'

(D) SIunitof distaince  (d) Second

o Watch Video Solution

13. Assertion A: 1 metre can be written as 1 m and not as 1 M.
Reason R: If the unit of physical quantity is not named after a scientist,
symbol of the unit should not be denoted with a capital letter.

A.Aand Ris correct and R is the correct explanation of A.

B.Aand Ris incorrect and R is the correct explanation of A.

C.Both Aand R is true but 'R' is not the correct explanation of A.

D.Ais true,R is not true and R is not the correct explanation of A.


https://dl.doubtnut.com/l/_j7lpxa8yXYB6
https://dl.doubtnut.com/l/_VAQPJJQv5GgZ

Answer: A

° Watch Video Solution

14. Write the following steps in sequential order to convert centimetres

into millimetres.

° Watch Video Solution

15. If the product of milli and micro is nano and the values of milli and

nano are 102 and 10_9, find the value of micro.

° Watch Video Solution

16. If A, B and C are the units of time, length and speed, then find the

relationship between them.

° Watch Video Solution



https://dl.doubtnut.com/l/_VAQPJJQv5GgZ
https://dl.doubtnut.com/l/_EST3wCB8FxPG
https://dl.doubtnut.com/l/_pAT7V4EIjRNH
https://dl.doubtnut.com/l/_DAP2yV68MLpb

density electric currect
and

17. Find the units of density, -
mass time

o Watch Video Solution

18. Write the unit of the physical quantity which is the ratio of density to

area.

o Watch Video Solution

19. Find the unit of work if the work is the product of force and

length
2

displacement, force = mass Xx acceleration, where acceleration =
time

° Watch Video Solution

20. Define length.

° Watch Video Solution



https://dl.doubtnut.com/l/_lsFeM4iMzYmd
https://dl.doubtnut.com/l/_Y4d5dlN3bzfD
https://dl.doubtnut.com/l/_ahn6NqPHBCuA
https://dl.doubtnut.com/l/_V0SjH8hsyiDf
https://dl.doubtnut.com/l/_1eb7AnmytL4r

21. Define mass.

o Watch Video Solution

22. Define volume.

o Watch Video Solution

23. Define area.

o Watch Video Solution

24. Define measurement.

o Watch Video Solution

25. Find the unit of ratio of mass to area.



https://dl.doubtnut.com/l/_1eb7AnmytL4r
https://dl.doubtnut.com/l/_4Ic0uiqtBjI6
https://dl.doubtnut.com/l/_llQHYzWsMh5F
https://dl.doubtnut.com/l/_ollfx5Z9K1JT
https://dl.doubtnut.com/l/_04JvYvxnxlQ1

| ° Watch Video Solution

26. What is the physical quantity measured in em??

° Watch Video Solution

27. Arrange the following steps in a sequence to find the area of a leaf.

(a) Find the number of complete boxes and half boxes inside the
boundary.

(b) As the area of one box is 1 m”2, the total area is equal to the sum of
full boxes and half boxes areas.

(c) Place it on a graph paper.

(d) Take an irregular shaped leaf.

(e) Draw the outline and remove it from the graph paper.

° Watch Video Solution



https://dl.doubtnut.com/l/_04JvYvxnxlQ1
https://dl.doubtnut.com/l/_jOcSPhQ0mjcR
https://dl.doubtnut.com/l/_SsGIGJEVtQMf

28. Match the following.

-

Column A

(A)  Arca/length

(C] Length/arca { ) (c) metre

o Watch Video Solution

29. Assertion (A): m? is a derived unit.

Reason (R ): Area is a derived quantity.
A.Aand R is correct and R is the correct explnation of A.
B.Aand Ris incorrect and R is the correct explanation of A.
C.Aand R is true but 'R" is not the correct explanation of A.

D.Ais true,R is not true and R is not the correct explanation of A.

Answer: A

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_KafLGOwKQYZL
https://dl.doubtnut.com/l/_k3qwTDcTLEXD
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30. Pavan is measuring the area of a leaf by using a graph paper and he
measured the sum of the areas of full boxes and more than half boxes
inside the outline of the leaf which is 25 ¢m?. Find the length of the

square whose area is equal to the area of the leaf.

° Watch Video Solution

31. Ram measured the length of a curved line using a thread. He made a
right angled triangle, of base 10 cm and height 20 cm, with the same

thread. Find the length of the curved line measured by him.

° Watch Video Solution

. . mass X area
32. Convert the unit of ratio from SI system to CGS
volume

system.

° Watch Video Solution



https://dl.doubtnut.com/l/_k3qwTDcTLEXD
https://dl.doubtnut.com/l/_NvQk6BQ5oKWm
https://dl.doubtnut.com/l/_DAhXn4Ez41Ny
https://dl.doubtnut.com/l/_YPHyFgEpwLnZ

33. Abhi who is interested in physics measured the volume of an irregular
shaped body with concepts given by his physics teacher. When he
immersed the given body in water contained in a measuring jar, the level
of water is increased from 500 ml to 1500 ml. Find the volume of the body
and also find the length of the edge of the cube whose volume is equal to

the volume of the given irregular shaped body.

o Watch Video Solution

34.Find the area of a coloured paper used to stick to a sphere of radius 7

cam.

o Watch Video Solution

35. Define time.

o Watch Video Solution



https://dl.doubtnut.com/l/_YPHyFgEpwLnZ
https://dl.doubtnut.com/l/_mDVzzCwnDFra
https://dl.doubtnut.com/l/_gLviKdORtlzg
https://dl.doubtnut.com/l/_U9B9il5h5BX4

36. Define temperature.

° Watch Video Solution

37. Match the following.

Column A Column B

(A) Kelvin { ) (a) Hotness
(C) Temperature ( ) (c) Second

° Watch Video Solution

38. Assertion (A): Temperature is a fundamental quantity in SI system.
Reason (R ): In other systems of measurement only mass, length and time

are fundamental quantities.

A.Aand Ris correct and R is the correct explanation of A.

B. Both A and R is incorrect.


https://dl.doubtnut.com/l/_pBbr6hRAykfO
https://dl.doubtnut.com/l/_Iut1fIfNDZGE
https://dl.doubtnut.com/l/_6a63FkMehITI

C.Ais true, R is true and 'R' is not the correct explanation of A.

D. Ais true, R is not true.

Answer: C

o Watch Video Solution

39. Write the following steps in a sequential order to find the time at a
given instant by using a clock.

(a) Observe the position of the hour hand.

(b) Observe the position of the minute hand.

(c) Multiply 1 hour with the number at which the hour hand is located.
(d) Note the number of minutes, considering the gap between two
numbers of clocks as 5 minutes.

(e) Find the time.

o Watch Video Solution



https://dl.doubtnut.com/l/_6a63FkMehITI
https://dl.doubtnut.com/l/_CbzZGM6Z4lJ5

40. Raju started a piece of work when the hours hand and minutes hand
in a wall clock are at 9 and 12, respectively. He completed his work when
the hours hand is at a midway between 11 and 12, while the position of

the minutes hand is at 6. Find the time taken by him to do the work.

o Watch Video Solution

41. Keshav observed that the increase in the temperature of a body is
given by Ty = 2t* for the first 5 minutes and T, = 3t for the next 5
minutes, where T}, 75 and 't' are temperatures in Fahrenheit, Celsius
scales and time in minutes, respectively. If the initial temperature of the
body is 20° F' and the relation between the Celsius and Fahrenheit scale

is, then find the temperature of the body after 8 minutes in Celsius scale.

o Watch Video Solution

42, Define rest.

| o WMIak L\ dan C Al iklmn



https://dl.doubtnut.com/l/_KYrguh30aEpo
https://dl.doubtnut.com/l/_1GApazsVpdF0
https://dl.doubtnut.com/l/_ctB3YJBUhi59
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43. Define motion.

o Watch Video Solution

44, Define displacement.

o Watch Video Solution

45. Define velocity of an object

o Watch Video Solution

46. Define acceleration.

o Watch Video Solution



https://dl.doubtnut.com/l/_ctB3YJBUhi59
https://dl.doubtnut.com/l/_6nre6vvcwHEd
https://dl.doubtnut.com/l/_XjQCw1nTi7cl
https://dl.doubtnut.com/l/_a9vgIGo0iO7A
https://dl.doubtnut.com/l/_lAArcDTwE35W
https://dl.doubtnut.com/l/_tjbXzJaJ73eg

47.How can you differentiate between distance and displacement?

° Watch Video Solution

48. If the distance covered by a body moving in a circular path of radius (r

) is equal to 277, find its displacement.

° Watch Video Solution

49. How can you say that speed and velocity are different even through

their units are the same?

° Watch Video Solution

50. How can you say that the tree on the earth is in a state of rest and in

a state of motion at the same time?

° Watch Video Solution



https://dl.doubtnut.com/l/_tjbXzJaJ73eg
https://dl.doubtnut.com/l/_bHyt7nmXlEz8
https://dl.doubtnut.com/l/_hcR0sQIvkgJY
https://dl.doubtnut.com/l/_GJDLchl5IBoR

51. Give any one example in which a body travels with retardation and

give a reason for the same.

° Watch Video Solution

52. A particle is movingin circular path of radius 7 cm. Find the ratio of its

displacement to the distance covered after the completion of a half

° Watch Video Solution

53. Find the minimum speed required by a person standing 5 m behind a

bus, to catch the bus in one minute which is moving at a speed of 600 m

Tl
min .

° Watch Video Solution



https://dl.doubtnut.com/l/_eWRc3UBjD3fc
https://dl.doubtnut.com/l/_ymReeM3ys8pl
https://dl.doubtnut.com/l/_NQpUZfecx7N7

54. If a bus moves from A to B and comes back to A, find the displacement

and velocity of the body.

° Watch Video Solution

55. What is the speed of a body if it covers a distance of 20 m in 4

seconds?

° Watch Video Solution

56. Find the acceleration of the car, if it changes its velocity from 20ms ~*

to 30ms ! in 5 seconds.

° Watch Video Solution

Concept Application



https://dl.doubtnut.com/l/_QcOylLVdMpcP
https://dl.doubtnut.com/l/_CsRsuJ5l8pS6
https://dl.doubtnut.com/l/_8kh57jbBaU7s

1. When one of the passengers was traveling on a city bus, his mobile
phone slipped from his hands and that fell out of the bus through the
window. This was observed by a school boy standing on the road. The

path of the mobile phone observed by the school boy is

A. circular

B. parabolic

C.linear

D. elliptical

Answer: B

o Watch Video Solution

2. Find out the physical quantity in CGS unit that results on simplifying
2b2c3
the expression 1000 —g where a - acceleration, b - displacement, c -

time, d - velocity.


https://dl.doubtnut.com/l/_LBedJYtgDjK9
https://dl.doubtnut.com/l/_Agb3lvQjC3r2

A. 10000cm?

B. 1000cm’®

C. 1000!

D. 1000g

Answer: B

o Watch Video Solution

3. Jyoti created a temperature scale, in which the reading at room
temperature divides the total length of the temperature scale in 2 : 3
ratio from LFP. Then find its value on Jyothi's scale, which is the same as
Kelvin scale.

A.40K

B.313 K

C.200 K

D.73 K


https://dl.doubtnut.com/l/_Agb3lvQjC3r2
https://dl.doubtnut.com/l/_UvL5I2R0Z7EQ

Answer: B

° Watch Video Solution

4. Dev is a 12-year-old, studying in 6th class, and has a younger brother
Surya whose age is 7-years. Surya is playing by dipping balls in water tub.
Dev observed that the level of the water increases when Surya starts
dipping the balls one after the other in the water. Then Dev remembered
his 6 class topic measurement of volume. He poured water up to the
brim of the tub and set up another bigger tub at the bottom of the first
tub. He then asked his brother Surya to dip ten identical balls in it so that
the overflowed water is collected in the tub at the bottom. Dev calculated
volume of overflowed water and found that it was 2 litres. Dev calculated
volume of each ball. Which of the following options matches with Dev's

calculations?

A. 2000 |

B.200 |


https://dl.doubtnut.com/l/_UvL5I2R0Z7EQ
https://dl.doubtnut.com/l/_wfinZSTF5ib4

c.201

D.0.2 |

Answer: D

o Watch Video Solution

5. Abhi, Vasu, Maahi and Lucky are good friends. During summer vacation
they met at Vasu's home to play. Vasu's father is good at mathematics
and physics, so he used to play with Vasu and his friends by asking
subject-related questions in the middle of their play. He asked a question,
"how will you write the weight of you 1 litre water bottle in physics?"
Select the correct form of writing the weight from the answer given by

the four.

A. Abhi wrote 10 n

B. Vasu wrote 10 newtons

C. Maahi wrote 10.N


https://dl.doubtnut.com/l/_wfinZSTF5ib4
https://dl.doubtnut.com/l/_PGdFH4sdlPEt

D. Lucky wrote 10, N.

Answer: B

° Watch Video Solution

Assessments Tests Test 1

1. Derive the units of area and volume.

° Watch Video Solution

2.If speed is the ratio of distance to time, then write its CGS unit.

° Watch Video Solution

3. Find the unit of ratio of area to length.

° Watch Video Solution



https://dl.doubtnut.com/l/_PGdFH4sdlPEt
https://dl.doubtnut.com/l/_zx1bvOejlc9t
https://dl.doubtnut.com/l/_BYiKrRsJ7scn
https://dl.doubtnut.com/l/_rw3VUo6rgvYf

4. What is the relation between CGS and Sl unit of volume?

o Watch Video Solution

5. The mass of mercury is 13.6 grams. Find its value in microgram.

o Watch Video Solution

6. Find the ratio of the smallest measurements possible on a screw gauge

to verneir calipers.

o Watch Video Solution

7. An object X' of volume 200 ¢m® and another object Y of volume 250

em?® are taken. If their area is the same, then determine the ratio of their

heights.



https://dl.doubtnut.com/l/_rw3VUo6rgvYf
https://dl.doubtnut.com/l/_ewgmFpenVxML
https://dl.doubtnut.com/l/_sUM8bC7oVeWP
https://dl.doubtnut.com/l/_exy8NGIovfvS
https://dl.doubtnut.com/l/_USssI2pbGgBg

| o Watch Video Solution

8. Four spheres made of different materials but having the same mass,
have a radii of 100 mm, 2 X 10_2m, 30 cm and 10 °km then arrange

them in ascending order of their volumes.

° Watch Video Solution

9.1km= millimetre

° Watch Video Solution

10. Given the volume of air is 1.29m "3, Then express it in c.c.

° Watch Video Solution



https://dl.doubtnut.com/l/_USssI2pbGgBg
https://dl.doubtnut.com/l/_HcbIXsWXx76p
https://dl.doubtnut.com/l/_DciuQNLrlWpD
https://dl.doubtnut.com/l/_TDtsoL77oY5r

11. Given that the time taken by an oil dropper to drop 100 oil drops is

800 min, find the time taken to drop 10 oil drops in hours.

° Watch Video Solution

12. On dropping 3 identical bullets into a measuring jar containing a
liquid, the level of the liquid increased from 280cm? to 316cm®. Then the

volume of each bullet is m°.

° Watch Video Solution

13. Express 50° C'in kelvin and Fahrenheit scale temperature.

° Watch Video Solution

14. Differentiate between speed and velocity.

° Watch Video Solution



https://dl.doubtnut.com/l/_w4H4nhaKURm6
https://dl.doubtnut.com/l/_wYvLCGRMBmcQ
https://dl.doubtnut.com/l/_T5zNBBhUcxT6
https://dl.doubtnut.com/l/_B1E2bFsDFGsO

15. What are the different branches of mechanics?

o Watch Video Solution

16. How, do you represent a vector geometrically?

o Watch Video Solution

17. When can we say that a particle in motion is moving with uniform

speed?

o Watch Video Solution

18. Give some examples for fundamental quantities and derived quantities

related to motion.

o Watch Video Solution



https://dl.doubtnut.com/l/_B1E2bFsDFGsO
https://dl.doubtnut.com/l/_O7aWTgjI2d2L
https://dl.doubtnut.com/l/_QlHwIAuQyn1Y
https://dl.doubtnut.com/l/_Cg3NbmLBLzoI
https://dl.doubtnut.com/l/_INfcauBQCf8Y

19. Define distance, displacement and speed.

° Watch Video Solution

20. What is kinematics?

° Watch Video Solution

21. What will be the displacement of a body when it travels along the
following paths?
(a) Half circle

(b) Full circular path?

° Watch Video Solution

22. What will be the displacement of a body when it travels along the

following paths?


https://dl.doubtnut.com/l/_INfcauBQCf8Y
https://dl.doubtnut.com/l/_CqXmBrcvW1In
https://dl.doubtnut.com/l/_rTiHs8KWbZBI
https://dl.doubtnut.com/l/_i2jTvSCuQXX6
https://dl.doubtnut.com/l/_knZLo8us7VQ2

(a) Half circle

(b) Full circular path?

° Watch Video Solution

1

23. What are the physical quantities that can be measured in m s~ 7, km

and km h ~2?

° Watch Video Solution



https://dl.doubtnut.com/l/_knZLo8us7VQ2
https://dl.doubtnut.com/l/_LjimbWqijJX4

